
Caliper Repair Kits

WABCO SERIES
          157...231

/benef�tcal�per



2/benef�tcal�per

Caliper Repair Kits



PAN 17" SERIES

PCS

2500 Cal�per Gu�de & Bush Repa�r K�t

-----

-----

Ø 30x91 mm

Ø110 mm

Ø87 mm

Ø 30x77 mm

M16x1,5x70 mm

M16x1,5x90 mm

Ø 35,2x49,5x1 mm

Ø 31,9x45,2x0,7 mm

Ø 34x30x20 mm

Ø 14,3x41,5x1,5 mm

Ø 34x16 mm

PCS

-----

8001

8002

8003

5003

8005

1013

2009

2010

3087

3009

1014

4004

7006

4072

Adjust�ng Mechan�sm   

Spr�ng R�ng Th�n 

Spr�ng R�ng Th�ck 

Spr�ng  

Adjust�ng Screw  

Dust Cover  

Cal�per P�n 

Cal�per P�n  

P�n Bolt   

P�n Bolt   

Bellow (Green ) 

Bush�ng

Bolt Plug

Bush�ng  

1

1

1

1

1

1

1

1

1

1

2

2

2

1

Ø110 mm

Ø 30x91 mm

Ø 30x77 mm

M16x1,5x70 mm

M16x1,5x90 mm

Ø 34x16 mm

Ø 34x30x20 mm

PCS

2501 Cal�per Gu�de & Bush Repa�r K�t

-----

-----

Ø 30x91 mm

Ø110 mm

Ø87 mm

Ø 30x77 mm

8001
8002
8003
5003
8006
1013
2009
2010
3087
3009
1014
4004
7006
5004
6007
6008
6009
6010
6011
4072

Adjust�ng Mechan�sm   
Spr�ng R�ng Th�n 
Spr�ng R�ng Th�ck 
Spr�ng 
Adjust�ng Screw 
Dust Cover
Cal�per P�n 
Cal�per P�n 
P�n Bolt   
P�n Bolt   
Bellow (Green )
Bush�ng
Bolt Plug 
Spr�ng  
Washer 
Washer
Washer
C�rcl�p  
Adjust�ng Washer  
Bush�ng

1
1
1
1
1
1
1
1
1
1
2
2
2
1
1
1
1
1
1
1

M16x1,5x70 mm

M16x1,5x90 mm

Ø 35,2x49,5x1 mm

Ø 31,9x45,2x0,7 mm

Ø 34x30x20 mm

Ø 14,3x41,5x1,5 mm

Ø 34x16 mm

PCS

MERCEDES : A002 420 3183

1014

1013

2082

2010

4004

1016

3087

3092

7006

7021

6075

P�n Dust Cover

Mechan�sm Dust Cover 

Cal�per P�n

Cal�per P�n

Cal�per P�n Bush

Cal�per Seal

Cal�per P�n Bolt

Cal�per P�n Bolt

Cal�per P�n Cap

Cal�per P�n Cap

Cal�per Mechan�sm Seal

2

1

1

1

3

1

1

1

1

1

1

Ø 30x90/4 mm

Ø 30x77 mm

M16x1,5x70 mm

M16x1,5x105 mm

Ø 34x16 mm

Ø 34x30x20 mm

2502 Cal�per Gu�de & Bush Repa�r K�t

-----

2531 Cal�per Gu�de & Bush Repa�r K�t

640.175.922.2

Adjust�ng Mechan�sm   
Spr�ng R�ng Th�n 
Spr�ng R�ng Th�ck 
Spr�ng 
Adjust�ng Screw 
Dust Cover
Cal�per P�n 
Cal�per P�n 
P�n Bolt   
P�n Bolt   
Bellow (Green )
Bush�ng
Bolt Plug 
Spr�ng  
Washer 
Washer
Washer
C�rcl�p  
Adjust�ng Washer  
Bush�ng

8001
8002
8003
5003
8005
1013
2009
2010
3087
3009
1014
4004
7006
5004
6007
6008
6009
6010
6011
4072 Ø 30x34x25 mm

1
1
1
1
1
1
1
1
1
1
2
2
2
1
1
1
1
1
1
1

Ø 34x30x25 mm

Ø 34x30x25 mm

Ø 34x38 mm

156/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

1013

2009

2010

3087

3009

1014

4004

7006

1015

4072

Ø 30x91 mm

Ø 30x77 mm

M16x1,5x70 mm

M16x1,5x90 mm

Ø 34x16 mm

Ø 34x30x20 mm

MAN 81.50822.6001- DAF 1436853- RENAULT 5001 186 6626
IVECO 4253 6957 - OTOKAR 13C3508276AA

1

1

1

1

1

2

2

2

1

1

Dust Cover 

Cal�per P�n 

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bellow (Green )

Bush�ng 

Bolt Plug 

Plug

Bush�ng   

2504

-----

-----

2514

Cal�per Dust Cover Set2505

-----

-----

Cal�per Repa�r K�t2553

-----

884.503.503.2

Cal�per Seal�ng R�ng2579

-----

-----

Cal�per Brake Pad Reta�ner K�t2583

-----

-----

Cal�per Gu�de & Bush Repa�r K�t

12.999.704

RENAULT 5001 852 880 - 7421 454 873 
DAF 1519363 - MACK 261112999704VT

Cal�per Gu�de & Bush Repa�r K�t

2503 Cal�per Gu�de & Bush Repa�r K�t

12.999.699 - 12.999.702

Ø 34x30x25 mm

157/benef�tcal�per

PAN 17" SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



PAN 17" SERIES

PCS

2515 Cal�per Bush Repa�r K�t

Cal�per Cover Set2516

-----

-----

2655

-----

-----

Cal�brat�on Mechan�sm Set2539

-----

-----

2633

-----

-----

Cal�per Leveller2512

-----

-----

Cal�per Roller Bear�ng Set2521

-----

-----

MAN 81.50822.6003 - DAF 1517407

1013

3087

3009

1014

4004

7006

1015

1016

3008

9001

4072

Dust Cover  

P�n Bolt   

P�n Bolt   

Bellow (Green ) 

Bush�ng 

Bolt Plug 

Plug 

Seal�ng R�ng 

Bolt   

Gasket

Bush�ng  

1

1

1

2

2

2

1

1

8

1

1

12.999.580

Ø 34x16 mm

Ø 34x30x20 mm

M16x1,5x90 mm

M16x1,5x70 mm

Cal�brat�on Mechan�sm Set

M10x1x40 mm

Ø 34x30x25 mm

Cal�per Dust Cover Set

158/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



Cal�per Mechan�sm Washer Set2506

-----

-----

2507

-----

-----

2508

-----

-----

2511

-----

-----

Cal�per Washer Set2509

-----

-----

Cal�per Leveller Repa�r K�t2513

-----

-----

8005

-----

-----

8006

-----

-----

Cal�per Mechan�sm Washer Set

Cal�per Mechan�sm Washer Set Cal�per Mechan�sm Washer Set

Cal�brat�on BoltCal�brat�on Bolt

159/benef�tcal�per

PAN 17" SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



Cal�per Brake L�n�ng Plate L

PAN 17" SERIES

Cal�per Brake L�n�ng Plate L

2517

-----

-----

2519

-----

6401759512-R  -  6401759402-R

2518

-----

-----

2520

-----

Cal�per Brake L�n�ng Plate R

PCS

1013

2521

9001

1015

3008

2539

2512

-----

1

1

1

1

8

1

1

Cal�per Dust Cover

Cal�per Roller Bear�ng

Cal�per Gasket

Cal�per Plast�c Cap

Cal�per Cover Bolt

Cal�brat�on Mechan�sm

Cal�per Leveller

2736 Cal�per Repa�r K�t Complete

640.175.946.2

6401759512-L  -  6401759402-L

160/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2570 Cal�per Repa�r K�t  Complete R MAN 12-153 (R)

1

1

1

1

1

8

2503

2539

2521

2519

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechans�m Set

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

2606 Cal�per Repa�r K�t  Complete R MAN 12-153 (R)

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechans�m Set

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2503

2539

2521

2519

2516

3008

2512

1

1

1

1

1

8

1

161/benef�tcal�per

PAN 17" SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PAN 17" SERIES

2571 Cal�per Repa�r K�t  Complete L MAN 12-153 (L)

1

1

1

1

1

8

2503

2539

2521

2520

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

2607 Cal�per Repa�r K�t  Complete L MAN 12-153 (L)

1

1

1

1

1

8

1

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2503

2539

2521

2520

2516

3008

2512

162/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2572 Cal�per Repa�r K�t  Complete R MAN 12-153 (R)

1

1

1

1

1

8

2503

2633

2521

2517

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

2608 Cal�per Repa�r K�t  Complete R MAN 12-153 (R)

1

1

1

1

1

8

1

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2503

2633

2521

2517

2516

3008

2512

163/benef�tcal�per

PAN 17" SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PAN 17" SERIES

2573 Cal�per Repa�r K�t  Complete L MAN 12-153 (L)

1

1

1

1

1

8

2503

2633

2521

2518

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

2609 Cal�per Repa�r K�t  Complete L MAN 12-153 (L)

1

1

1

1

1

8

1

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2503

2633

2521

2518

2516

3008

2512

164/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2/benef�tcal�per

Caliper Repair Kits



PAN 19-22" SERIES

PCS

2524

-----

-----

PCS

2526

PCS

2527

-----

-----

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

8009
8002
8003
5003
8007
1017
2011
2012
3010
3004
1018
6012
4007
7007
7008
5004
6007
6008
6009
6010
6011

Adjust�ng Mechan�sm  
Spr�ng R�ng Th�n
Spr�ng R�ng Th�ck
Spr�ng 
Adjust�ng Screw 
Dust Cover
Cal�per P�n
Cal�per P�n
P�n Bolt   
P�n Bolt   
Bellow (Green ) 
Washer 
Bush�ng 
Bolt Plug  
Bolt Plug 
Spr�ng
Washer 
Washer
Washer 
C�rcl�p 
Adjust�ng Washer  

1
1
1
1
1
1
1
1
1
1
2
2
3
1
1
1
1
1
1
1
1

Ø 38x118 mm

Ø115 mm

Ø 35,2x49,5x1 mm

Ø97 mm

Ø 31,9x45,2x0,7 mm

Ø 42x38x30 mm

Ø 14,3x41,5x1,5 mm

Ø 42x29 mm

Ø 38x76 mm

Ø 42x17 mm

M16x1,5x80 mm
M16x1,5x120 mm

2737

640.225.921.2

HENDRICKSON : S-32676-4 
Cal�per Gu�de & Bush Repa�r K�t

PCS

2073

2074

3056

1017

1018

6012

4068

1015

7007

7008

Cal�per P�n

Cal�per P�n

Cal�per P�n Bolt

Cal�per Mechan�sm Dust Cover 

Cal�per P�n Dust Cover

Cal�per Washer

Cal�per Bush�ng

Cal�per Plast�c Cap

Cal�per P�n Cap

Cal�per P�n Cap 

1

1

2

1

2

2

3

1

1

1

12.999.776

DAF 1628065 - SAF 3.434.3828.00 - RENAULT 5001 866 626 
VOLVO  - 85108166 - A   KÖGEL 650070021457165 W 12999776
NISSAN 411209X625 - U  51239 SCANIA  SCHWARZM LLER 2093081
SCHMITZ 1068119 - LECITRAILER 0503 40001 VOLVO  WA12999776

1017

2011

2012

3010

3004

1018

6012

4007

7007

7008

1015

Dust Cover 

Cal�per P�n 

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bellow (Green )

Washer 

Bush�ng 

Bolt Plug  

Bolt Plug

Plug 

1

1

1

1

1

2

2

3

1

1

1

Ø 38x118 mm

Ø 38x76 mm

Ø 42x38x30 mm

Ø 42x17 mm

Ø 42x29 mm

M16x1,5x120 mm

M16x1,5x80 mm

1017

2011

2012

1018

6012

4007

7007

7008

Dust Cover  

Cal�per P�n 

Cal�per P�n 

Bellow (Green )

Washer  

Bush�ng 

Bolt Plug 

Bolt Plug 

1

1

1

2

2

3

1

1

Ø 38x118 mm

Ø 38x76 mm

Ø 42x29 mm

Ø 42x17 mm

Ø 42x38x30 mm

165/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

2535

PCS

2538

-----

-----

Cal�per Repa�r K�t2536

-----

-----

2656

-----

-----

Dust Cover Set2537

-----

-----

2577

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

DAF 1505890 - SAF 3.434.3827.01 - LIEBHERR  10326485
SCHMITZ  - VOLVO  - SCANIA 1020777 WA12999738VT 2093080
SCHWARZMÜLLER  46780

1017

2011

2012

3010

3004

1018

6012

1019

4007

7007

7008

1015

Dust Cover  

Cal�per P�n 

Cal�per P�n  

P�n Bolt  

P�n Bolt   

Bellow (Green ) 

Washer  

Bellow (Wh�te)

Bush�ng 

Bolt Plug  

Bolt Plug  

Plug  

1

1

1

1

1

2

4

2

3

1

1

1

12.999.738

Ø 38x118 mm

Ø 42x38x30 mm

Ø 38x76 mm

M16x1,5x80 mm

M16x1,5x120 mm

Ø 42x17 mm

Ø 42x29 mm

1017

2011

2012

3010

3004

6012

1019

4007

7007

7008

Dust Cover  

Cal�per P�n 

Cal�per P�n 

P�n Bolt   

P�n Bolt   

Washer  

Bellow (Wh�te) 

Bush�ng

Bolt Plug  

Bolt Plug  

1

1

1

1

1

2

2

3

1

1

Ø 38x118 mm

Ø 38x76 mm

M16x1,5x80 mm

M16x1,5x120 mm

Ø 42x38x30 mm

Ø 42x17 mm

Ø 42x29 mm

Cal�per Repa�r K�t

640.175.920.2

SAF 3.434.3829.00 - DAF 0906197 - LIEBHERR 10326501 - SCANIA  2093084
OTOKAR 13C3508278AB - SCHMITZ 1068.160 - VALX 50360001
MERCEDES  U  67492A4054210080 SCHWARZM LLER

Dust Cover Set

166/benef�tcal�per

PAN 19-22" SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its

Calip
er R

epair K
its



PAN 19-22" SERIES

Cal�brat�on Mechan�sm Set2634

-----

-----

Cal�per Br�dge Assembly K�t2532

-----

-----

Mechan�sm Washer Set2528

-----

-----

2529

-----

-----

2530

-----

-----

Cal�brat�on Bolt K�t2738

-----

640.195.923.2

2581

-----

-----

2582

-----

-----

Mechan�sm Washer Set

Mechan�sm Washer Set

Cal�per Brake Pad Reta�ner K�t Cal�per Brake Pad Reta�ner K�t

167/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



Cal�per Brake L�n�ng Plate R2522

-----

640.195.936.2-R

SCHMITZ 1146640-R

640.225.926.2-R

-----

640.195.936.2-L

2534

SCHMITZ 1146640-L

640.225.926.2-L

Cal�per Cover Set2516

-----

-----

Cal�per Seal�ng R�ng2579

-----

-----

Cal�per Brake L�n�ng Plate L2523

2533

Cal�per Brake L�n�ng Plate L

Cal�per Brake L�n�ng Plate R

Cal�per Leveller2512

-----

-----

Cal�per Roller Bear�ng Set2521

-----

-----

168/benef�tcal�per

PAN 19-22" SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



PAN 19-22" SERIES

Cal�per Cap K�t2739

-----

640.225.930.2

Cal�per Cap K�t2740

-----

640.225.931.2

169/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2574 Cal�per Repa�r K�t  Complete R

1

1

1

1

1

8

2526

2634

2521

2522

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

2610 Cal�per Repa�r K�t  Complete R

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2526

2634

2521

2522

2516

3008

2512

1

1

1

1

1

8

1

SAF AXLE (R)

SAF AXLE (R)

170/benef�tcal�per

PAN 19-22" SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PAN 19-22" SERIES

2575 Cal�per Repa�r K�t  Complete L SAF AXLE (L)

1

1

1

1

1

8

2526

2634

2521

2523

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

2611 Cal�per Repa�r K�t  Complete L

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2526

2634

2521

2523

2516

3008

2512

1

1

1

1

1

8

1

SAF AXLE SOL (L)

171/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2729 Cal�per Repa�r K�t  Complete R

1

1

1

1

1

8

2535

2634

2521

2533

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

2731 Cal�per Repa�r K�t  Complete R

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate R  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2535

2634

2521

2533

2516

3008

2512

1

1

1

1

1

8

1

SAF AXLE (R)

SAF AXLE (R)

172/benef�tcal�per

PAN 19-22" SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PAN 19-22" SERIES

2730 Cal�per Repa�r K�t  Complete L SAF AXLE (L)

1

1

1

1

1

8

2535

2634

2521

2534

2516

3008

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

2732 Cal�per Repa�r K�t  Complete L

Cal�per Gu�de & Bush Repa�r K�t 
 
Adjust�ng Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Brake L�n�ng Plate L  

Cal�per Gasket Set 

Bolt 

Cal�per Leveller

2535

2634

2521

2534

2516

3008

2512

1

1

1

1

1

8

1

SAF AXLE SOL (L)

173/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2/benef�tcal�per

Caliper Repair Kits



DOUBLE PISTONS SERIES

PCS

2544 Cal�per Gu�de & Bush�ng Repa�r K�t

PCS

2578

PCS

2584

Cal�per Repa�r K�t2540

-----

-----

Cal�per Dust Cover1020

-----

8977500002

12.999.746

DAF 1440505 - RENAULT  5001.858.722 - 7421454874
MACK 26112999746VT

Ø 38x118 mm

Ø 42x38x30 mm

Ø 38x76 mm

M16x1,5x80 mm

M16x1,5x120 mm

Ø 42x29 mm

Ø 42x17 mm

12.999.678

DAF 0865966 - RENAULT  5021 170 488 - SMB CM100675
VOLVO WA12999678VT

M16x1,5x130 mm

Ø 38x128 mm

Ø 38x70 mm

2540

2011

2012

3010

3004

1019

6012

4007

7007

7008

1015

1

1

1

1

1

2

2

3

1

1

2

Cal�per Repa�r K�t

Cal�per P�n

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bellow (Wh�te) 

Washer 

Bush�ng 

Bolt Plug  

Bolt Plug 

Plug 
  

Cal�per Gu�de & Bush�ng Repa�r K�t

2047

2048

3053

3004

1019

6012

4007

7008

7030

1074

1

1

1

1

2

2

3

1

1

1

Cal�per P�n 

Cal�per P�n 

P�n Bolt  

P�n Bolt  

Bellow (Wh�te) 

Washer 

Bush�ng 

Bolt Plug  

R�ng 

Dust Cover 

  

M16x1,5x80 mm

Ø 42x38x30 mm

Ø 42x17 mm

12.999.677

DAF 0865965 - RENAULT  5021 170 487 - VOLVO  WA12999677VT

Ø 42x17 mm

M16x1,5x80 mm

M16x1,5x130 mm

Cal�per Repa�r K�t

3004

3053

1019

6012

1074

7030

7008

1015

2540

1

1

2

2

1

1

1

1

1

P�n Bolt   

P�n Bolt 

Bellow (Wh�te)

Washer  

Dust Cover 

Cal�per R�ng

Cal�per Bolt Plug

Cal�per Cap

Cal�per Repa�r K�t

  

174/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



Cal�per Br�dge Assembly K�t2545

-----

-----

2543

-----

-----

Cal�per Cal�brat�on Bolt R2568

-----

-----

2569

-----

-----

2541

-----

-----

-----

-----

Cal�per Brake Pad Reta�ner K�t2580

-----

-----

Cal�per Gasket Set2548

-----

-----

Cal�per Cal�brat�on Bolt L

Cal�per Cal�brat�on Bolt R Cal�per Cal�brat�on Bolt L2542

Cal�per Br�dge Assembly K�t

175/benef�tcal�per

DOUBLE PISTONS SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



DOUBLE PISTONS SERIES

Cal�per Leveller K�t2557

-----

-----

2556

-----

-----

Cal�per Leveller Set2555

-----

-----

Cal�per Leveller2554

-----

-----

2558

-----

-----

Cal�per Gear Repa�r K�t2559

-----

-----

Cal�per Adjust�ng Mechan�sm P�n2563

-----

-----

2565

-----

-----

Cal�per Leveller K�t

-----

Cal�per Leveller Set

Cal�per Gear Repa�r K�t

176/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2566

-----

-----

Cal�per Gear Repa�r K�t2564

-----

-----

2562

-----

-----

2560

-----

-----

2561

-----

-----

Cal�per Adjust�ng Mechan�sm Hous�ng2567

-----

-----

Cal�per Roller Bear�ng Set2546

-----

-----

2547

-----

-----

Cal�per Gear Repa�r K�t

Cal�per Adjust�ng Mechan�sm P�n Cal�per Gear Repa�r K�t R

Cal�per Gear Repa�r K�t L

Cal�per Roller Bear�ng Set

177/benef�tcal�per

DOUBLE PISTONS SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



DOUBLE PISTONS SERIES

2576 Cal�per Repa�r K�t  Complete 

1

1

1

1

1

1

2

2

2544

2548

2557

2565

2545

2567

6058

6059

Cal�per  Repa�r K�t 

Cal�per Gasket Set   

Cal�per Leveller Repa�r K�t 

Cal�per Gear Repa�r K�t  

Cal�per Br�dge Assembly K�t 

Adjust�ng Mechan�sm Hous�ng 

C�rcl�p

Ant� Rotat�on Plate 

2657 Cal�per Repa�r K�t  Complete 

1

1

1

1

1

1

2

2

1

2578
2548
2557
2565
2545
2567
6058
6059
2540

Cal�per  Gu�de & Bush�ng Set
Cal�per Gasket Set   
Cal�per Leveller Repa�r K�t 
Cal�per Gear Repa�r K�t  
Cal�per Br�dge Assembly K�t 
Adjust�ng Mechan�sm Hous�ng 
C�rcl�p
Ant� Rotat�on Plate
Cal�per Repa�r K�t 

178/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2/benef�tcal�per

Caliper Repair Kits



MAXX17 SERIES

2702

640.317.928.2

PCS

2703

-----

-----

PCS

2704

Cal�per Gu�de & Bush Repa�r K�t

-----

-----
Cal�per Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

PCS

1014

1015

1017

2078

2079

3056

4004

7006

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per P�n

Cal�per P�n

Cal�per P�n Bolt

Cal�per Bush�ng

Cal�per P�n Cap

2

1

1

1

1

2

3

2

M16 x 1,5 x 80 mm

MERCEDES : A405 420 0050 

34 x 30 x 20 mm

34 x 16 mm

30 x 90,80 mm

30 x 75 mm

1014

1015

1017

3056

4004

7006

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per P�n Bolt

Cal�per Bush�ng

Cal�per P�n Cap

2

1

1

2

3

2

M16 x 1,5 x 80 mm

34 x 30 x 20 mm

34 x 16 mm

1014

1015

1017

4004

7006

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per Bush�ng

Cal�per P�n Cap

2

1

1

3

2

34 x 30 x 20 mm

34 x 16 mm

2728

-----

Cal�per Cover Gasket Set

PCS

1014

1015

1017

3056

4004

7006

9001

1016

3008

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per P�n Bolt

Cal�per Bush�ng

Cal�per P�n Cap

Cal�per Gasket

Cal�per Seal

Cal�per Gasket Bolt

2

1

1

2

3

2

1

1

8

M16 x 1,5 x 80 mm

-----

34 x 30 x 20 mm

34 x 16 mm

M10 x 1 x 40 mm

179/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1017

-----

Cal�per Dust Cover

-----

2577

640.175.920.2

SAF 3.434.3829.00 - DAF 0906197 - LIEBHERR 10326501 SCANIA  2093084
OTOKAR 13C3508278AB - SCHMITZ 1068.160 - VALX 50360001
MERCEDES   67492A4054210080 SCHWARZMULLER

Cal�per Dust Cover K�tCal�per Cover Set2516

-----

-----

2705

-----

Cal�per Dust Cover K�t

-----

2658

640.322.932.2

-----

Cal�per Dust Cover K�t

Cal�per Roller Bear�ng Set2521

-----

-----

2712

-----

Cal�per Brake L�n�ng Plate -R-

-----

Cal�per Brake L�n�ng Plate -L-2713

-----

-----

180/benef�tcal�per

MAXX17 SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2707

-----

Cal�brat�on Mechan�sm

-----

2710

-----

-----

Cal�bra�ton Mechan�sm SetCal�per Leveller2711

-----

-----

2709

-----

Cal�per Br�dge Assembly

-----

2706

-----

-----

Cal�brat�on Mechan�sm

Mechan�sm Repa�r K�t2708

-----

-----

2648

-----

Cal�per Washer Set

-----

Cal�brat�on Mechan�sm Bolt8129

-----

-----

MAXX17 SERIES

181/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2716 Cal�per Repa�r K�t  Complete R 

1

1

1

1

1

1

2702

2712

2710

2521

2711

2516

Caliper Guide & Bush Repair Kit 
 
Brake Lining Plate R  

Calibration Mechanısm 

Roller Bearing Set  

Caliper Leveller 

Caliper Gasket Set

GAZ - SAĞ (R)

2714 Cal�per Repa�r K�t  Complete R 

1

1

1

1

1

2702

2712

2710

2521

2516

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R  

Cal�brat�on Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Gasket Set

GAZ - SAĞ (R)

182/benef�tcal�per

MAXX17 SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2717 Cal�per Repa�r K�t  Complete L 

1

1

1

1

1

1

2702

2713

2710

2521

2711

2516

Caliper Guide & Bush Repair Kit 
 
Brake Lining Plate L  

Calibration Mechanısm 

Roller Bearing Set  

Caliper Leveller 

Caliper Gasket Set

GAZ - SOL (L)

2715 Cal�per Repa�r K�t  Complete L 

1

1

1

1

1

2702

2713

2710

2521

2516

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L  

Cal�brat�on Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Gasket Set

GAZ - SOL (L)

MAXX17 SERIES

183/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



MAXX 19 SERIES

PCS

2701 Cal�per Gu�de & Bush Repa�r K�t

640.319.922.2

VOLVO : 21748973 - RENAULT : 7421748972 

1107

7008

4068

1017

1118

3061

Bellow (Green)

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

Cap Bolt

2

2

3

1

1

1

Ø 42x17 mm

Ø 42x38x30 mm

PCS

2690
-----

-----
Cal�per Gu�de & Bush Repa�r K�t

1107

7008

4068

1017

1118

3061

Bellow (Green)

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

Cap Bolt

2

2

3

1

1

1

Ø 42x17 mm

Ø 42x38x30 mm

2627

-----

Cal�per Dust Cover K�t

-----

2691

-----

Cal�per Dust Cover K�t

-----

PCS

2689 Cal�per Gu�de & Bush Repa�r K�t

-----

-----

2077

2074

1107

3056

7008

4068

1017

1118

3061

Cal�per P�n

Cal�per P�n

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

Cap Bolt

1

1

2

2

2

3

1

1

1

Ø 38x1104 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

189/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Cal�per Dust Cover1017

-----

-----

2692

VOLVO : 21749015 - RENAULT : 7421749014

640.317.926.2

Cal�per Mechan�sm Repa�r K�t

Cal�brat�on Mechans�m2646

-----

-----

2647

-----

-----

Cal�brat�on Mechans�m

-----2598

-----

-----

Cal�per Washer Set2648

-----

-----

Cal�per Br�dge Assembly 2694

-----

-----

Cal�brat�on Mechan�sm Set2693

-----

-----

190/benef�tcal�per

MAXX 19 SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



MAXX 19 SERIES

Cal�brat�on Bolt8093

-----

-----

Cal�per Leveller2637

-----

-----

2587

-----

-----

Cal�per Metal Cover K�t2664

-----

-----

Cal�per Brake L�n�ng Plate R2695

-----

640.319.929.2 - R

2696

-----

Cal�per Roller Bear�ng Set

Cal�per Brake L�n�ng Plate L

640.319.929.2 - L

Cal�per Roller Bear�ng2586

-----

-----

Cal�per Dust Cover Set2665

-----

-----

191/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2699 Cal�per Repa�r K�t  Complete RENAULT (R)

1

1

1

1

1

1

2689

2695

2693

2587

2692

2664

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover 

2697 Cal�per Repa�r K�t  Complete RENAULT (R)

1

1

1

1

1

1

1

2689

2695

2693

2587

2692

2664

2637

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover

Cal�per Leveller 

192/benef�tcal�per

MAXX 19 SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



MAXX 19 SERIES

2700 Cal�per Repa�r K�t  Complete RENAULT (L)

1

1

1

1

1

1

2689

2696

2693

2587

2692

2664

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover 

2698 Cal�per Repa�r K�t  Complete RENAULT (L)

1

1

1

1

1

1

1

2689

2696

2693

2587

2692

2664

2637

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover

Cal�per Leveller 

193/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2718

PCS

2719

640.317.922.2

PCS

2720

Cal�per Gu�de & Bush Repa�r K�t

-----

-----
Cal�per Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

PCS

1014

1118

1017

2078

2079

3056

4004

7006

3061

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per P�n

Cal�per P�n

Cal�per P�n Bolt

Cal�per Bush�ng

Cal�per P�n Cap

Cal�per Cap Bolt

2

1

1

1

1

2

3

2

1

M16 x 1,5 x 80 mm

-----

34 x 30 x 20 mm

34 x 16 mm

30 x 30,90 mm

30 x 75 mm

1014

1118

1017

3056

4004

7006

3061

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per P�n Bolt

Cal�per Bush�ng

Cal�per P�n Cap

Cal�per Cap Bolt

2

1

1

2

3

2

1

M16 x 1,5 x 80 mm

34 x 30 x 20 mm

34 x 16 mm

1014

1118

1017

4004

7006

3061

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per Bush�ng

Cal�per P�n Cap

Cal�per Cap Bolt

2

1

1

3

2

1

34 x 30 x 20 mm

34 x 16 mm

2733

-----

Cal�per Cover Gasket Set

PCS

1014

1118

1017

3056

4004

7006

9001

3008

3061

Cal�per Dust Cover

Cal�per Plast�c Cap

Cal�per Dust Cover

Cal�per P�n Bolt

Cal�per Bush�ng

Cal�per P�n Cap

Cal�per Gasket

Cal�per Gasket Bolt

Cal�per Cap Bolt

2

1

1

2

3

2

1

8

1

M16 x 1,5 x 80 mm

-----

34 x 30 x 20 mm

34 x 16 mm

M10 x 1 x 40 mm

-----

VOLVO : 21748964 - RENAULT : 7421748963

184/benef�tcal�per

MAXX17 CWS SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1017

-----

Cal�per Dust Cover

-----

Cal�per Cover Set2734

-----

-----

-----

Cal�per Roller Bear�ng Set2521

-----

-----

2712

-----

Cal�per Brake L�n�ng Plate -R-

-----

Cal�per Brake L�n�ng Plate -L-2713

-----

-----

MAXX17 CWS SERIES

2705

-----

Cal�per Dust Cover K�t

-----

2691

-----

Cal�per Dust Cover K�t

-----

2692

VOLVO : 21749015 - RENAULT : 7421749014

640.317.926.2

Cal�per Mechan�sm Repa�r K�t

185/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2722

-----

Cal�brat�on Mechan�sm

-----

2723

-----

-----

Cal�bra�ton Mechan�sm SetCal�per Leveller2711

-----

-----

2709

-----

Cal�per Br�dge Assembly

-----

2721

-----

-----

Cal�brat�on Mechan�sm

Mechan�sm Repa�r K�t2735

-----

-----

2648

-----

Cal�per Washer Set

-----

Cal�brat�on Mechan�sm Bolt8155

-----

-----

186/benef�tcal�per

MAXX17 CWS SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2726 Cal�per Repa�r K�t  Complete R 

1

1

1

1

1

1

8

1

2718

2712

2723

2521

2711

9001

3008

2692

Caliper Guide & Bush Repair Kit 
 
Brake Lining Plate R  

Calibration Mechanısm 

Roller Bearing Set  

Caliper Leveller 

Caliper Gasket

Caliper Cover Bolt

Caliper Mechanism

2724 Cal�per Repa�r K�t  Complete R 

1

1

1

1

1

8

1

2718

2712

2723

2521

9001

3008

2692

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R  

Cal�brat�on Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Gasket

Cal�per Cover Bolt

Cal�per Mechan�sm 

RENAULT & VOLVO - SAĞ (R)

MAXX17 CWS SERIES

RENAULT & VOLVO - SAĞ (R)

187/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2727 Cal�per Repa�r K�t  Complete L 

1

1

1

1

1

1

8

1

2718

2713

2723

2521

2711

9001

3008

2692

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L  

Cal�brat�on Mechanısm 

Roller Bear�ng Set  

Cal�per Leveller 

Cal�per Gasket

Cal�per Cover Bolt

Cal�per Mechan�sm

2725 Cal�per Repa�r K�t  Complete L 

1

1

1

1

1

8

1

2718

2713

2723

2521

9001

3008

2692

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L  

Cal�brat�on Mechan�sm Set 

Roller Bear�ng Set  

Cal�per Gasket

Cal�per Cover Bolt

Cal�per Mechan�sm

RENAULT & VOLVO - SOL (L)

RENAULT & VOLVO - SOL (L)

188/benef�tcal�per

MAXX17 CWS SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PCS

2599

-----

-----

PCS

2601

-----

-----

PCS

2591

Dust Cover Set2537

-----

-----

2658

-----

640.322.932.2

Cal�per Gu�de & Bush Repa�r K�t

8092
8094
8095
50 43
8093
1017
2011
2012
3010
3088
1018
4055
7046
6101
6100
6097
6098
1015
6012
6099
1082
7008
7047

Adjusting Mechanism  
Spring Ring Thin
Spring Ring Thick
Spring 
Adjusting Screw 
Dust Cover 
Caliper Pin
Caliper Pin 
Pin Bolt   
Pin Bolt  
Bellow (Green )
Bushing 
Bolt Plug 
Washer 
Washer
Washer 
Circlip 
Plug
Washer 
C�rcl�p
Dust Cover
Bolt Plug
Adjust�ng Gear 

Ø 38x118 mm

1
1
1
1
1
1
1
1
1
1
2
3
1
1
3
1
1
1
1
1
1
2
1

Ø 38x76 mm
M16x1,5x120 mm
M16x1,5x80 mm

Ø 42x38x35 mm

Ø 42x17 mm

Cal�per Gu�de & Bush Repa�r K�t

8092

8094

8095

5034

8093

1017

2011

2012

3010

3088

1018

4055

7046

1015

6012

1082

7008

Adjust�ng Mechan�sm   

Spr�ng R�ng Th�n

Spr�ng R�ng Th�ck

Spr�ng  

Adjust�ng Screw 

Dust Cover 

Cal�per P�n

Cal�per P�n  

P�n Bolt

P�n Bolt  

Bellow (Green ) 

Bush�ng 

Bolt Plug 

Plug

Washer 

Dust Cover 

Bolt Plug 

1

1

1

1

1

1

1

1

1

1

2

3

1

1

2

1

2

Ø 38x118 mm

Ø 38x76 mm

M16x1,5x120 mm

M16x1,5x80 mm

Ø 42x38x35 mm

Ø 42x17 mm

640.322.926.2

MAN 81.50822.6038
Cal�per Gu�de & Bush Repa�r K�t

2011

2012

3010

3088

1018

4055

7008

1015

6012

1017

Cal�per P�n

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bellow (Green )

Bush�ng

Bolt Plug 

Plug 

Washer

Dust Cover

1

1

1

1

2

3

2

1

2

1

Ø 38x118 mm

Ø 38x76 mm

M16x1,5x120 mm

M16x1,5x80 mm

Ø 42x38x35 mm

Ø 42x17 mm

Dust Cover Set

194/benef�tcal�per

MAXX 22 SERIES MAN TYPE Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



MAXX 22 SERIES MAN TYPE

PCS

2597

-----

-----

Cal�per Mechan�sm Washer Set2596

-----

-----

2598

-----

-----

Cal�per Bolt Plug2592

-----

-----

2593

-----

-----

Cal�per Leveller Repa�r K�t2595

-----

-----

Cal�brat�on Mechan�sm Set2594

-----

-----

8092

8094

8095

5034

8093

6100

6101

6097

6098

6099

7047

1082

7046

1

1

1

1

1

1

3

1

1

1

1

1

1

Adjusting Mechanism 

Spring Ring Thin 

Spring Ring Thick 

Spring  

Adjusting Screw 

Washer 

Washer 

Washer 

Circlip  

Circlip

Adjusting Gear

Dust Cover 

Bolt Plug  

Cal�per Mechan�sm Washer Set

Cal�per Mechan�sm Washer Set

Dust Cover

195/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its



PCS

2585 Cal�per Leveller

-----

-----

Cal�per Roller Bear�ng Set2587

-----

-----

2586

-----

-----

Cal�per Seal�ng R�ng2600

-----

-----

Metal Cover K�t2589

-----

-----

Cal�per Mechan�sm Repa�r K�t2590 Plast�k Sensor  2588

4052

4053

2

2

Bushing 

Ball Bearing 

640.322.927.2

MAN 81.50822.6039 - DAEWOO P3093000490  

Cal�per Roller Bear�ng Set

640.322.928.2

MAN 81.50822.6040 - DAEWOO P3093000500   

196/benef�tcal�per

MAXX 22 SERIES MAN TYPE Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



MAXX 22 SERIES MAN TYPE

Cal�per Brake L�n�ng Plate R2602

Man : 81.5082.2604.1 - Daewoo : P3093000480  

640.322.931.2 - R

2603

640.322.931.2 - L

Cal�per Pad F�tt�ng Set2659

-----

640.322.934.2

Cal�per Brake L�n�ng Plate L

Man : 81.5082.2604.1 - Daewoo : P3093000480  

197/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2604 Cal�per Repa�r K�t  Complete MAN TGX-TGS (R)

1

1

1

1

1

1

2591

2602

2594

2586

2585

2590

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Cal�per Leveller Repa�r K�t

Mechan�sm Repa�r K�t

2660 Cal�per Repa�r K�t  Complete MAN TGX-TGS (R)

1

1

1

1

1

2591

2602

2594

2586

2590

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

198/benef�tcal�per

MAXX 22 SERIES MAN TYPE Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



MAXX 22 SERIES MAN TYPE

2605 Cal�per Repa�r K�t  Complete MAN TGX-TGS (L)

1

1

1

1

1

1

2591

2603

2594

2586

2585

2590

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Cal�per Leveller Repa�r K�t

Mechan�sm Repa�r K�t

2661 Cal�per Repa�r K�t  Complete MAN TGX-TGS (L)

1

1

1

1

1

2591

2603

2594

2586

2590

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

199/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PCS

2662 Cal�per Gu�de & Bush Repa�r K�t

-----

-----

PCS

2663

-----

-----

PCS

2642

640.322.938.2

DAEWOO P3093000460 

PCS

2677

640.322.951.2

-----

2073
2074
1107
3056
7008
4068
1110
1111
8094
8095
5034
8093
8136
6100
6101
6097
6098
6099
7047

Cal�per P�n
Cal�per P�n
Bellow (Green)
P�n Bolt
Cal�per Cap
Bush�ng
Dust Cover 
Plast�c Cap
Adjust�ng Mechan�sm
Cal�per R�ng
Spr�ng
Adjust�ng Bolt
Adjust�ng Mechans�m
Washer
Washer
Washer
C�rc�l�p
C�rcl�p
Adjust�ng Gear

1
1
2
2
2
3
1
1
1
1
1
1
1
1
1
3
1
1
1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

Ø 42x17 mm

M16 x 1,5 x 80 mm

Ø 42x38x30 mm

Cal�per Gu�de & Bush Repa�r K�t

2073

2074

1107

3056

7008

4068

1110

1111

8094

8095

5034

8093

8136

Cal�per P�n

Cal�per P�n

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

Adjust�ng Mechan�sm

R�ng

Spr�ng

Adjust�ng Bolt

Adjust�ng Mechans�m

Ø 38x118/63 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

1

1

2

2

2

3

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

2073

2074

1107

3056

7008

4068

1110

1111

Cal�per P�n

Cal�per P�n

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

1

1

2

2

2

3

1

1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

Cal�per Gu�de & Bush Repa�r K�t

2073

2074

1107

3056

7008

4068

1111

Cal�per P�n

Cal�per P�n

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Plast�c Cap

1

1

2

2

2

3

1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

200/benef�tcal�per

MAXX 22 SERIES MERCEDES TYPE Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



MAXX 22 SERIES MERCEDES TYPE

PCS

2678

640.319.922.2

-----

PCS

2643

-----

-----

Cal�per Repa�r K�t2653

Daewoo P3093000470

640.322.932.2

2652

-----

-----

Cal�per Dust Cover1110

-----

-----

2649

-----

640.322.941.2

Cal�per Gu�de & Bush Repa�r K�t

1107

3056

7008

4068

1110

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Dust Cover 

2

2

2

3

1

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

Cal�per Gu�de & Bush Repa�r K�t

1107

7008

4068

1110

1111

Bellow (Green)

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

2

2

3

1

1

Ø 42x17 mm

Ø 42x38x30 mm

Cal�per Dust Cover K�t

Cal�per Mechan�sm Repa�r K�t

201/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its

Calip
er R

epair K
its



Cal�brat�on Mechans�m2646

-----

-----

2647

-----

-----

-----2598

-----

-----

Cal�per Washer Set2648

-----

-----

Cal�brat�on Bolt8093

-----

-----

Cal�per Br�dge Assembly 2645

-----

-----

Cal�brat�on Mechan�sm Set2644

-----

-----

Cal�per Plast�c Cover2651

MERCEDES  A0035409217

-----

Cal�brat�on Mechans�m

202/benef�tcal�per

MAXX 22 SERIES MERCEDES TYPE Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



MAXX 22 SERIES MERCEDES TYPE

Cal�per Leveller2641

-----

-----

2587

-----

-----

Cal�per Roller Bear�ng2586

-----

-----

Cal�per Metal Cover K�t2664

-----

-----

Cal�per Brake L�n�ng Plate R2679

-----

640.322.945.2

2680

-----

Cal�per Dust Cover Set2665

-----

-----

Cal�per Roller Bear�ng Set

Cal�per Brake L�n�ng Plate L

640.322.946.2

203/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2670 Cal�per Repa�r K�t  Complete MERCEDES AROCS FRONT (R)

1

1

1

1

1

1

2642

2679

2644

2587

2649

2664

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover 

2672 Cal�per Repa�r K�t  Complete MERCEDES AROCS FRONT (R)

1

1

1

1

1

1

1

2642

2679

2644

2587

2649

2664

2641

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover

Cal�per Leveller 

204/benef�tcal�per

MAXX 22 SERIES MERCEDES TYPE Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



MAXX 22 SERIES MERCEDES TYPE

2671 Cal�per Repa�r K�t  Complete MERCEDES AROCS FRONT (L)

1

1

1

1

1

1

2642

2680

2644

2587

2649

2664

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover 

2673 Cal�per Repa�r K�t  Complete MERCEDES AROCS FRONT (L)

1

1

1

1

1

1

1

2642

2680

2644

2587

2649

2664

2641

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover

Cal�per Leveller 

205/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PCS

2662 Cal�per Gu�de & Bush Repa�r K�t

-----

-----

PCS

2663

-----

-----

PCS

2642

640.322.938.2

PCS

2677

640.322.951.2

-----

2073
2074
1107
3056
7008
4068
1110
1111
8094
8095
5034
8093
8136
6100
6101
6097
6098
6099
7047

Cal�per P�n
Cal�per P�n
Bellow (Green)
P�n Bolt
Cal�per Cap
Bush�ng
Dust Cover 
Plast�c Cap
Adjust�ng Mechan�sm
Cal�per R�ng
Spr�ng
Adjust�ng Bolt
Adjust�ng Mechans�m
Washer
Washer
Washer
C�rc�l�p
C�rcl�p
Adjust�ng Gear

1
1
2
2
2
3
1
1
1
1
1
1
1
1
1
3
1
1
1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

Ø 42x17 mm

M16 x 1,5 x 80 mm

Ø 42x38x30 mm

Cal�per Gu�de & Bush Repa�r K�t

2073

2074

1107

3056

7008

4068

1110

1111

8094

8095

5034

8093

8136

Cal�per P�n

Cal�per P�n

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

Adjust�ng Mechan�sm

R�ng

Spr�ng

Adjust�ng Bolt

Adjust�ng Mechans�m

Ø 38x118/63 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

1

1

2

2

2

3

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

2073

2074

1107

3056

7008

4068

1110

1111

Cal�per P�n

Cal�per P�n

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

1

1

2

2

2

3

1

1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

Cal�per Gu�de & Bush Repa�r K�t

2073

2074

1107

3056

7008

4068

1111

Cal�per P�n

Cal�per P�n

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Plast�c Cap

1

1

2

2

2

3

1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

DAEWOO P3093000460 

206/benef�tcal�per

MAXX 22 L SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



MAXX 22 L SERIES

PCS

2678

640.319.922.2

-----

PCS

2643

-----

-----

Cal�per Repa�r K�t2654

-----

640.322.942.2

2652

-----

-----

Cal�per Dust Cover1110

-----

-----

2650

-----

-----

Cal�per Gu�de & Bush Repa�r K�t

1107

3056

7008

4068

1110

Bellow (Green)

P�n Bolt

Cal�per Cap

Bush�ng

Dust Cover 

2

2

2

3

1

M16 x 1,5 x 80 mm

Ø 42x17 mm

Ø 42x38x30 mm

Cal�per Gu�de & Bush Repa�r K�t

1107

7008

4068

1110

1111

Bellow (Green)

Cal�per Cap

Bush�ng

Dust Cover 

Plast�c Cap

2

2

3

1

1

Ø 42x17 mm

Ø 42x38x30 mm

Cal�per Dust Cover K�t

Cal�per Mechan�sm Repa�r K�t

207/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its

Calip
er R

epair 
Kits



Cal�brat�on Mechans�m2646

-----

-----

2647

-----

-----

-----2598

-----

-----

Cal�per Washer Set2648

-----

-----

Cal�brat�on Bolt8093

-----

-----

Cal�per Br�dge Assembly 2645

-----

-----

Cal�brat�on Mechan�sm Set2644

-----

-----

Cal�per Plast�c Cover2651

Mercedes A0035409217

-----

Cal�brat�on Mechans�m

208/benef�tcal�per

MAXX 22 L SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



MAXX 22 L SERIES

Cal�per Leveller2640

-----

-----

2587

-----

-----

Cal�per Roller Bear�ng2586

-----

-----

Cal�per Metal Cover K�t2664

-----

-----

Cal�per Brake L�n�ng Plate R2679

-----

640.322.945.2

2680

-----

Cal�per Dust Cover Set2665

-----

-----

Cal�per Roller Bear�ng Set

Cal�per Brake L�n�ng Plate L

640.322.946.2

209/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2666 Cal�per Repa�r K�t  Complete MERCEDES AROCS REAR (R)

1

1

1

1

1

1

2642

2679

2644

2587

2650

2664

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover 

2672 Cal�per Repa�r K�t  Complete MERCEDES AROCS REAR (R)

1

1

1

1

1

1

1

2642

2679

2644

2587

2650

2664

2640

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover

Cal�per Leveller 

210/benef�tcal�per

MAXX 22 L SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



MAXX 22 L SERIES

2667 Cal�per Repa�r K�t  Complete MERCEDES AROCS REAR (L)

1

1

1

1

1

1

2642

2680

2644

2587

2650

2664

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover 

2669 Cal�per Repa�r K�t  Complete MERCEDES AROCS REAR (L)

1

1

1

1

1

1

1

2642

2680

2644

2587

2650

2664

2640

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L 

P�n�on  Shaft 

Roller Bear�ng Set  

Mechan�sm Repa�r K�t

Cal�per Metal Cover

Cal�per Leveller 

211/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PCS

2628

-----

-----

PCS

2674

-----

-----

PCS

2626

Cal�per Gu�de & Bush Repa�r K�t

8128
8094
8095
50 43
8129
1017
2073
2074
3056
1107
4007
7008
6101
6100
6097
8133
1015
6099
8131
1015

Adjust�ng Mechan�sm   
Spr�ng R�ng Th�n
Spr�ng R�ng Th�ck 
Spr�ng  
Adjust�ng Screw  
Dust Cover  
Cal�per P�n 
Cal�per P�n 
P�n Bolt   
Bellow (Green )
Bush�ng 
Bolt Plug  
Washer 
Washer 
Washer 
C�rcl�p 
Plug 
C�rcl�p 
Washer 
Cap 

1
1
1
1
1
1
1
1
2
2
3
2
1
3
1
1
1
1
1
1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

Ø 42x17 mm

M16 x 1,5 x 80 mm

Ø 42x38x30 mm

1017

2073

2074

3056

1107

4007

7008

1015

Dust Cover  

Cal�per P�n 

Cal�per P�n 

P�n Bolt   

Bellow (Green )

Bush�ng

Bolt Plug  

Cap 

1

1

1

2

2

3

2

1

Ø 38x118/63 mm

Ø 38x76/20.5 mm

M16 x 1,5 x 80 mm

Ø 42x38x30 mm

Ø 42x17 mm

640.222.928.2 - 640.222.920.2

SCHMITZ 1199858
Cal�per Gu�de & Bush Repa�r K�t

2627

-----

2577Cal�per Dust Cover K�t

640.175.920.2

SAF 3.434.3829.00 - DAF 0906197 - LIEBHERR 10326501 SCANIA  2093084
OTOKAR 13C3508278AB - SCHMITZ 1068.160 - VALX 50360001

 67492 MERCEDES SCHWARZMULLER A4054210080

Cal�per Dust Cover K�t

-----

2073

2074

3056

1107

4007

7008

1015

8128

8129

8094

8095

5034

1017

Cal�per P�n 

Cal�per P�n 

P�n Bolt   

Bellow (Green )

Bush�ng

Bolt Plug  

Cap

Cal�brat�on Mechan�sm

Cal�brat�on Bolt

Cal�brat�on Mechan�sm 

Cal�per R�ng

Spr�ng

Dust Cover 

Ø 38x118/63 mm

Ø 38x76/20.5 mm

Ø 42x17 mm

M16 x 1,5 x 80 mm

Ø 42x38x30 mm

1

1

2

2

3

2

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

212/benef�tcal�per

MAXX 22 T SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



MAXX 22 T SERIES

Cal�per Mechan�sm Washer Set2630

-----

-----

2629

-----

-----

2636

-----

-----

Cal�per Washer Set2648

-----

-----

Adjust�ng Screw8093

-----

-----

Metal Cover K�t2635

-----

-----

Cal�brat�on Mechan�sm Set 2632

-----

-----

Cal�per Leveller Repa�r K�t2631

-----

-----

Cal�per Mechan�sm Washer Set

Cal�per Mechan�sm Washer Set

213/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



Cal�per Leveller2637

-----

-----

Cal�per Roller Bear�ng Set2587

-----

-----

2586

-----

-----

Cal�per Roller Bear�ng Set

Cal�per Brake L�n�ng Plate R2533

SCHMITZ 1146640-R

640.225.926.2-R

2534

SCHMITZ 1146640-L

640.225.926.2-L

Cal�per Brake L�n�ng Plate L

214/benef�tcal�per

MAXX 22 T SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



MAXX 22 T SERIES

2638 Cal�per Repa�r K�t  Complete R 

1

1

1

1

1

1

1

2626

2533

2632

2586

2637

1016

2635

Caliper Guide & Bush Repair Kit 
 
Brake Lining Plate R  

Pinion  Shaft 

Roller Bearing Set  

Caliper Leveller Repair Kit

Sealing Ring 

Metal Cover Kit 

SCHMITZ - SAĞ (R)

2675 Cal�per Repa�r K�t  Complete R 

1

1

1

1

1

1

2626

2533

2632

2586

1016

2635

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate R  

P�n�on  Shaft 

Roller Bear�ng Set  

Seal�ng R�ng 

Metal Cover K�t 

SCHMITZ - SAĞ (R)

215/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2639 Cal�per Repa�r K�t  Complete L 

1

1

1

1

1

1

1

2626

2534

2632

2586

2637

1016

2635

Caliper Guide & Bush Repair Kit 
 
Brake Lining Plate L  

Pinion  Shaft 

Roller Bearing Set  

Caliper Leveller Repair Kit

Sealing Ring 

Metal Cover Kit 

SCHMITZ  (L)

2676 Cal�per Repa�r K�t  Complete L 

1

1

1

1

1

1

2626

2534

2632

2586

1016

2635

Cal�per Gu�de & Bush Repa�r K�t 
 
Brake L�n�ng Plate L  

P�n�on  Shaft 

Roller Bear�ng Set  

Seal�ng R�ng 

Metal Cover K�t 

SCHMITZ - (L)

216/benef�tcal�per

MAXX 22 T SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PCS

2552

12.999.729

Cal�per Gu�de & Bush Repa�r K�t DAF 1517354 - MAN 81.50800.6023 
NEOPLAN 11015566 - 082139200 - MAN N1011015566

2044

2045

3045

1066

1067

4042

7024

6060

5025

3046

1068

2

2

4

2

4

8

4

2

2

2

2

Cal�per P�n 

Cal�per P�n  

P�n Bolt    

Dust Cover  

Bellow (Green ) 

Bush�ng 

Bolt Plug 

Cal�per Seal 

Spr�ng 

P�n Bolt   

Tappet Boot  

Ø 24,6x81 mm

M12x1,5x90 mm

Ø 28x16 mm

Ø 25x28x15 mm

Ø 25x81 mm

PCS

2682 Cal�per Shaft Set R

-----

-----

M12 x 1,5 x 50 mm

8145

1066

6121

6123

7055

6119

6125

6120

6124

6122

3072

1068

1119

1

1

1

1

1

1

1

1

2

1

4

1

1

Shaft R 

Dust Cover 

C�rcl�p   

Ball 

Plug

Washer

R�ng 

Sealing Ring 

R�ng  
 
Sealing Ring 

P�n Bolt 

Tappet Boot

O-R�ng 

 

PCS

2683 Cal�per Shaft Set L

-----

-----

M12 x 1,5 x 50 mm

8146

1066

6121

6123

7055

6119

6125

6120

6124

6122

3072

1068

1119

1

1

1

1

1

1

1

1

2

1

4

1

1

Shaft L 

Dust Cover 

C�rcl�p   

Ball 

Plug

Washer

R�ng 

Sealing Ring 

R�ng  
 
Sealing Ring 

P�n Bolt

Tappet Boot

O-R�ng  

 

2684

-----

-----

2685

-----

-----

Cal�per Shaft Set LCal�per Shaft Set R

1000VG
SERIES

217/benef�tcal�per

1000 VG SERIES

VG
SERIES

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



Cal�per Washer Set2617

-----

-----

Cal�per Brake L�n�ng Plate2681

-----

-----

Cal�per Shaft Level2686

-----

-----

218/benef�tcal�per

VG
SERIES

1000 VG SERIES Caliper Repair Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



2687 Cal�per Repa�r K�t  Complete R MAN L 2000 & NEOPLAN

2688 Cal�per Repa�r K�t  Complete L MAN L 2000 & NEOPLAN

1

1

1

1

1

2552

2681

2682

2684

2686

Cal�per Gu�de & Bush Repa�r K�t 

Brake L�n�ng Plate  

P�n�on  Shaft 

Mechan�sm Repa�r K�t 

Cal�per Shaft Level  

1

1

1

1

1

2552

2681

2683

2685

2686

Cal�per Gu�de & Bush Repa�r K�t 

Brake L�n�ng Plate  

P�n�on  Shaft 

Mechan�sm Repa�r K�t 

Cal�per Shaft Level  

219/benef�tcal�per

1000 VG SERIESCaliper Repair Kits

VG
SERIES

Caliper Repair Kits

Caliper Repair Kits



PCS

2615

-----

-----

PCS

2614

PCS

2613

Cal�per Dust Cover K�t2616

-----

-----

Cal�per Washer Set2617

-----

-----

12.999.734VT

MERCEDES 405 420 0076 

12.999.733VT

MERCEDES 405 420 0083 

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

7008

1096

4062

2064

2065

3070

2

2

3

1

1

2

Plug  

Bellow (Green ) 

Bush�ng 

 Cal�per P�n

Cal�per P�n  

   P�n Bolt

Ø 42x18 mm

Ø 35x39x20 mm

Ø 35x110 mm

Ø 34,80x85 mm

M16 x 1,5 x 110 mm

7008

1096

4062

3070

2

2

3

2

Plug 

Bellow (Green ) 

Bush�ng

P�n Bolt   

7008

1096

3070

1066

6119

6120

6122

7055

6075

3071

5037

2

2

2

1

1

1

1

1

1

1

1

Plug

Bellow (Green ) 

P�n Bolt  

Dust Cover

Washer 

Sealing Ring   

Sealing Ring  

Plug

Sealing Ring

P�n Bolt   

Spring 

  

Ø 42x18 mm

Ø 35x39x20 mm

M16 x 1,5 x 110 mm

Ø 42x18 mm

M16 x 1,5 x 110 mm

220/benef�tcal�per

VG
SERIES

1300 VG SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits



1300 VG SERIES

PCS

2618 Cal�per Shaft Set R

-----

-----

2620

-----

-----

2621

-----

-----

Cal�per Brake L�n�ng Plate2622

-----

-----

Cal�per Shaft Level2623

-----

-----

M12 x 1,5 x 50 mm

8103

1066

6121

6123

7055

6119

6125

6120

6124

6122

3072

1

1

1

1

1

1

1

1

2

1

4

Shaft R 

Dust Cover 

C�rcl�p   

Ball 

Plug

Washer

R�ng 

Sealing Ring 

R�ng  
 
Sealing Ring 

P�n Bolt  

 

PCS

2619 Cal�per Shaft Set L

-----

-----

M12 x 1,5 x 50 mm

8104

1066

6121

6123

7055

6119

6125

6120

6124

6122

3072

1

1

1

1

1

1

1

1

2

1

4

Shaft L 

Dust Cover 

C�rcl�p   

Ball 

Plug

Washer

R�ng 

Sealing Ring 

R�ng  
 
Sealing Ring 

P�n Bolt  

 

Cal�per Shaft Set LCal�per Shaft Set R

221/benef�tcal�per

VG
SERIES

Caliper Repair Kits

VG
SERIES

Calip
er R

epair K
its

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair 
Kits

Calip
er R

epair K
its

Calip
er R

epair 
Kits



2624 Cal�per Repa�r K�t  Complete R UNIMOG U400-U500

2625 Cal�per Repa�r K�t  Complete L UNIMOG U400-U500

1

1

1

1

1

2615

2622

2618

2620

2622

Cal�per Gu�de & Bush Repa�r K�t 

Brake L�n�ng Plate  

P�n�on  Shaft 

Mechan�sm Repa�r K�t 

Cal�per Shaft Level  

1

1

1

1

1

2615

2622

2619

2620

2623

Cal�per Gu�de & Bush Repa�r K�t 

Brake L�n�ng Plate  

P�n�on  Shaft 

Mechan�sm Repa�r K�t 

Cal�per Shaft Level  

222/benef�tcal�per

VG
SERIES

1300 VG SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PCS

2612 Cal�per Dust Cover Set

12.999.199VT

2612 Cal�per Repa�r K�t 1

IVECO 9316 1181 - OTOKAR 12E0008228AA

223/benef�tcal�per

Caliper Repair Kits

VG
SERIES

Calip
er R

epair K
its



2/benef�tcal�per

Caliper Repair Kits



CARRIERS

PCS

20502 Cal�per Carr�er R

640.175.002.2

-----

PCS

20503

640.175.001.2

-----

PCS

-----

-----

PCS

-----

-----

12-153 MAN

20504

20505

SAF AXLE

20502 1Cal�per Carr�er - R   

228 mm

310 mm

176 mm

288 mm

213 mm

M16 x 1,5

M14 x 1,5

Cal�per Carr�er L

20503 1Cal�per Carr�er - L   

12-153 MAN

228 mm

310 mm

176 mm

288 mm

213 mm

M16 x 
1,5

M14 x 
1,5

Cal�per Carr�er L

Cal�per Carr�er R

20504 1Cal�per Carr�er - R   

263 mm

216 mm

316,50 mm

211 mm
M16 x 1,5

M18 x 1,5

20505 1Cal�per Carr�er - L   

SAF AXLE

M
16 x 

1,5

263 mm

211 mm

216 mm

316,50 mm

M18 x 1,5

224/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



378 mm

263 mm

210,80 mm

400 mm

210 mm

M16 x 1,5

PCS

-----

-----

PCS

-----

-----

PCS

20509

-----

-----

20506 Cal�per Carr�er R

20506 1Cal�per Carr�er - R   

Cal�per Carr�er L

20507 1Cal�per Carr�er - L   

Cal�per Carr�er R

MAN TGX-TGS 

MAN TGX-TGS 

380 mm

280 mm

218 mm

408 mm

220 mm

M16 x 1,5

M18 x 1,5

380 mm

280 mm

218 mm

408 mm

220 mm

M16 x 1,5

M18 x 1,5

20509 1Cal�per Carr�er R   

20507

SAF AXLE

PCS

20510

-----

-----
Cal�per Carr�er L

20510 1Cal�per Carr�er - L   
378 mm

263 mm

210,80 mm

400 mm

210 mm

M16 x 1,5

225/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



CARRIERS

PCS

20511

640.225.031.0

SCHMITZ SCB 1035 095

PCS
640.225.030.0 

SCHMITZ SCB 1035 094

PCS

-----

-----

Cal�per Carr�er R

SCHMITZ AXLE 

20511 1Cal�per Carr�er - R   263 mm

M16 x 1,5

211 mm

201,50 mm

196 mm

149,25 mm

20512 1Cal�per Carr�er - L   

Cal�per Carr�er L

SCHMITZ AXLE 

263 mm

M16 x 1,5

211 mm

201,50 mm

196 mm

149,25 mm

20512

20513 Cal�per Carr�er R

20513 1Cal�per Carr�er - R   

211.60mm

263 mm

M16 x 1,5

216 mm

316 mm

M18 x 1,5

PCS

20514

-----

-----
Cal�per Carr�er L

SAF AXLE

211.60mm

263 mm

M16 x 1,5

216 mm

316 mm

M18 x 1,5

20514 1Cal�per Carr�er - L   

226/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

-----

-----

PCS

-----

-----

PCS

-----

-----

-----

20515 Cal�per Carr�er R

20515 1Cal�per Carr�er - R   

SAF AXLE

360 mm

211,80 mm

341 mm

263 mm

M16 x 1,5

176 mm

Cal�per Carr�er L

20516 1Cal�per Carr�er - L   

SAF AXLE

360 mm

211,80 mm

341 mm

263 mm

176 mm

M16 x 1,5

SAF AXLE

360 mm

211,80 mm

341 mm

263 mm

268 mm

M16 x 1,5

20516

20517

PCS

-----

-----

360 mm

211,80 mm

341 mm

263 mm

M16 x 1,5

268 mm

20518

SAF AXLE

20518 1Cal�per Carr�er - L   

Cal�per Carr�er L

227/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



CARRIERS

PCS

-----

-----

PCS

20520

-----

-----

PCS

20521

640.915.745.4

MERCEDES 000 423 2206

211,50 mm

286 mm

196 mm

201,50 mm

M16 x 1,50

149 mm

20519 1Cal�per Carr�er - R   

SCHMITZ TRAILER

Cal�per Carr�er R20519

211,50 mm

286 mm

196 mm

201,50 mm

M16 x 1,50

149 mm

M16 x 1,50

Cal�per Carr�er L

20520 1Cal�per Carr�er - L   

SCHMITZ TRAILER

Cal�per Carr�er R

20521 1Cal�per Carr�er - R   

MB AROCS REAR

PCS

20522 Cal�per Carr�er L

20522 1Cal�per Carr�er - L    

640.915.744.4 MB AROCS REAR

MERCEDES 000 423 2306

221 mm

280 mm

210 mm

M16 x 1,5

350 mm

322 mm

221 mm

280 mm

210 mm

M16 x 1,5

350 mm

322 mm

228/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS
640.915.743.4

MERCEDES : 000 421 6406

PCS
640.915.742.4

PCS

-----

-----

20523

20524

20525

Cal�per Carr�er R

20523 1Cal�per Carr�er - R   

MB AROCS FRONT

Cal�per Carr�er L

20524 1Cal�per Carr�er - L   

MB AROCS FRONT

Cal�per Carr�er R

SCHMITZ TRAILER

20525 1Cal�per Carr�er - R   

PCS

-----

-----20526 Cal�per Carr�er L

SCHMITZ TRAILER

20526 1Cal�per Carr�er - L   

221 mm

280 mm

210 mm

M16 x 1,5

400 mm

378 mm

221 mm

280 mm

210 mm

M16 x 1,5

400 mm

378 mm

263 mm

M16 x 1,5

201,50 mm

149 mm

211 mm

196 mm

263 mm

M16 x 1,5

201,50 mm

149 mm

211 mm

196 mm

MERCEDES : 000 421 6506

229/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



CARRIERS

PCS

20527

-----

-----

PCS

20528

-----

-----

Cal�per Carr�er R

20527 1Cal�per Carr�er - R   

20528 1Cal�per Carr�er - L   

Cal�per Carr�er L

DAF LF55

DAF LF55

PCS

20500

-----

-----

20500 1Cal�per Carr�er - R   

Cal�per Carr�er R

PCS

20501

-----

-----

20501 1Cal�per Carr�er - L   

Cal�per Carr�er L

263 mm

M16 x 1,5

351,25 mm

211 mm

372 mm

246,25 mm

M18 x 1,5

263 mm

M16 x 1,5

351,25 mm

211 mm

372 mm

246,25 mm

M18 x 1,5

213 mm

M16 x 1,5

195 mm

176,25 mm

270 mm

213 mm

M16 x 1,5

195 mm

176,25 mm

270 mm

MERCEDES FRONT

MERCEDES FRONT

230/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

20529

-----

-----

PCS

20508

-----

-----

Cal�per Carr�er 

20529 1Cal�per Carr�er  

20508 1Cal�per Carr�er  

Cal�per Carr�er 

205 mm

268 mm

245 mm

M16 x 1,5

369 mm

350 mm

177 mm

213,50 mm

195 mm

M16 x 1,5

270 mm

M12 x 1,5

MERCEDES REAR

RENAULT MIDLUM

PCS

20530

-----

-----

20530 1Cal�per Carr�er - R   

Cal�per Carr�er R

PCS

20531

-----

-----

20531 1Cal�per Carr�er - L   

Cal�per Carr�er L

RENAULT MIDLUM

RENAULT MIDLUM

266 mm

M16 x 1,5

245 mm

211 mm

270 mm

350 mm

M18 x 1,5

266 mm

M16 x 1,5

245 mm

270 mm

350 mm

M18 x 1,5

211 mm

231/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Cal�per Repa�r K�ts

2526 2512 2521 2634 2516 2533

Info About Cal�per  

Cal�per Type  WABCO Pan 22-1

Truck & Tra�ler Brand Ser�es & Model D�ameter

60000 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

60000

Var�ous Tra�ler Axles 22,5

1 22,5

V
e
h

�c
le

 C
o

d
e

SCHMITZ Var�ous Tra�ler Axles

SAF HOLLAND 1

Cal�per Repa�r K�ts

2526 2512 2521 2634 2516 2534

Info About Cal�per  

Cal�per Type  WABCO Pan 22-1

Truck & Tra�ler Brand Ser�es & Model D�ameter

60001 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

60001

Var�ous Tra�ler Axles 22,5

2 22,5SCHMITZ Var�ous Tra�ler Axles

SAF HOLLAND 2

62/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

CALIPER
CARRIER

9o

9o

CARRIERSCaliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



Cal�per Repa�r K�ts

Info About Cal�per  

Cal�per Type  

Truck & Tra�ler Brand Ser�es & Model D�ameter

60002 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

600002

Var�ous Tra�ler Axles 22,5SAF HOLLAND 1

SAF03.080.0068.20

Cal�per Repa�r K�ts

Info About Cal�per  

Cal�per Type  

Truck & Tra�ler Brand Ser�es & Model D�ameter

60003 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

60003

Var�ous Tra�ler Axles 22,5SAF HOLLAND 2

SAF

03.080.0067.20 SAF

03.080.0067.00

SAF03.080.0068.00

63/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

2526 2512 2521 2634 2533 205042526 2512 2521 2634 2533 20504

2526 2512 2521 2634 2534 205052526 2512 2521 2634 2050

WABCO Pan 22-1

WABCO Pan 22-1

640 225 0230
640 225 0260
640 225 0490

640 225 0220
640 225 0250
640 225 0480

9o

9o

CARRIERS Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



Cal�per Repa�r K�ts

Info About Cal�per  

Cal�per Type  

Truck & Tra�ler Brand Ser�es & Model D�ameter

60004 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

60004

Var�ous Tra�ler Axles 22,5SAF HOLLAND 1

SAF03.080.0050.20

Cal�per Repa�r K�ts

Info About Cal�per  

Cal�per Type  

Truck & Tra�ler Brand Ser�es & Model D�ameter

60005 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

60005

Var�ous Tra�ler Axles 22,5SAF HOLLAND 2

03.080.0051.20 SAF40225007

64/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

CALIPER
CARRIER

2526 2512 2521 2634 2533 20509

2526 2512 2521 2634 205102526 2512 2521 2634 2052534

WABCO Pan 22-1

WABCO Pan 22-1

40225008
40225010
40225012
40225016
6402250330
6402250350
6402250670

6402250730
6402250910
6402250930
6402251070
6402251210

SAF03.080.0050.00

SAF04.080.0050.00
DAF0877934
SCANIA2093077

VOLVOA40225016W
FAW3501030A4S

40225009
40225011
40225015
6402250320
6402250340
6402250660

6402250720
6402250900
6402250920

6402251060
6402251200

03.080.0051.00 SAF

04.080.0051.00 SAF
0877933 DAF
2093076 SCANIA

VOLVOA40225015W
3501025A4S FAW

9o

9o

CARRIERSCaliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



Cal�per Repa�r K�ts

Info About Cal�per  

Cal�per Type  

Truck & Tra�ler Brand Ser�es & Model D�ameter

60006 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

60006

Var�ous Tra�ler Axles 22,51

SCHMITZSCB1035095

Cal�per Repa�r K�ts

Info About Cal�per  

Cal�per Type  

Truck & Tra�ler Brand Ser�es & Model D�ameter

60007 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

60007

Var�ous Tra�ler Axles 22,52

65/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

2526 2512 2521 2634 2533 20511

2526 2512 2521 2634 205122534

WABCO Pan 22-1

WABCO Pan 22-1

6402250310

6402250410

SCHMITZ1063037

SCHMITZ1068162
SCHMITZSCB1068162

WA6402250410 VOLVO

SCHMITZ TRAILER

6402250300

6402250400

SCHMITZSCB1035094
SCHMITZ1063036

SCHMITZ1068161
SCHMITZSCB1068161

A6402250400 VOLVOW

9o

9o

CARRIERS Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits


